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QUESTION 1

Why would an application developer set a dimension action to \\'as is\\' in a Turbo Integrator process? 

A. The process creates a dimension. 

B. The process loads data to a cube. 

C. The process adds data to a dimension. 

D. The process creates an attribute. 

Correct Answer: B 

 

QUESTION 2

Which of the following rules should be fed? 

A. []=C:\\'Price\\'*\\'Cost\\'; 

B. []=N:\\'Price\\'*\\'Cost\\'; 

C. []=S:\\'Price*Cost\\'; 

D. []=C:\\'Price\\'/\\'Cost\\'; 

Correct Answer: B 

 

QUESTION 3

Why would an application developer assign a negative weight to an element in a dimension? 

A. To store credit balances without a negative sign. 

B. To provide an alternate drill down path to the dimension. 

C. To display data in different formats. 

D. To store data in multiple hierarchies. 

Correct Answer: A 

 

QUESTION 4

Why must an application developer publish a report or template in an application folder? 

A. To update the reference on the TM1 server. 

B. To move the reference to the TM1 server. 
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C. To make the reference available on TM1 web. 

D. To move the reference to a common location. 

Correct Answer: C 

 

QUESTION 5

When executing a script to load data into the Reporting cube, the application developer must manually indicate which
year the data represents. 

Which of the following should be applied to the script? 

A. Variables 

B. Parameters 

C. Metadata 

D. Attributes 

Correct Answer: B 
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